
Dividing a 2-digit number by a 1-digit number (1) 

Name: __________________（    ） Class: ________ 

 

1. 

 

Each pupil gets _____ ten-block and  

_____ unit-block. 

 

 

 40 ÷ 4  

= _____ 

2. 

 
Each pupil gets _____ ten-blocks and  

_____ unit-blocks. 

 

 

 69 ÷ 3 

= _____ 

3. 

 
Each pupil gets _____ ten-block and  

_____ unit-blocks.  _____ unit-block are left. 
 

 49 ÷ 4 

= _____···_____ 

 T U 

   

   

   

4 4 0 

   

   

   

   

   

   

 

) 

 T U 

   

   

   

3 6 9 

   

   

   

   

   

   

 

) 

 T U 

   

   

   

4 4 9 

   

   

   

   

   

   

 

)



4. 

 
Each pupil gets _____ ten-block and  

_____ unit-blocks.  _____ unit-blocks are left. 
 

 98 ÷ 3 

= _____···_____ 

6. 72 ÷ 7 = _____________    7. 84 ÷ 4 = _____________   

 

 

 

 

 

 

 

8. 58 ÷ 5 = _____________    9. 69 ÷ 6 = _____________ 

 

 

 

 

 

 T U 

   

   

   

3 9 8 

   

   

   

   

   

   

 

)

   

   

   

7 7 2 

   

   

   

   

   

   

 

) 

   

   

   

5 5 8 

   

   

   

   

   

   

 

) 

   

   

   

4 8 4 

   

   

   

   

   

   

 

) 

   

   

   

6 6 9 

   

   

   

   

   

   

 

) 


